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Worksheet 5

Comprehension Read the passage below and answer the questions:

Once, there were two friends, Ram and Shyam. They went to a fair and bought
different toys. Ram bought 5 toys, and Shyam bought 8 toys. When they got home, they
started playing with the toys and noticed that Ram’s toys were bigger, but Shyam had
more. They wanted to find out who had more fun with their toys and started counting
how many toys each one had.

Questions

1. Fill in the blanks: Ram bought toys, and Shyam bought
toys.

2. Objective: Who bought more toys?

(a) Ram
(b) Shyam
(c) Both bought the same number

3. Subjective: Do you think having more toys means more fun? Why or why not?
4. Write down the number of toys both Ram and Shyam bought combined:

5. Fill in the blank: The total number of toys Ram and Shyam have is

6. Group the following toys based on their size (small or big):

e Car
e Ball
e Doll
o Kite

7. True/False: Ram bought fewer toys than Shyam.
8. If Shyam gave 2 toys to Ram, how many toys would Ram have now?
9. Match the following:

e Ram Bought 5 toys

e Shyam Bought 8 toys

10. Find out: If Shyam loses 3 toys, how many toys does he have now?

11. Fill in the blanks: After giving 2 toys to Ram, Shyam will have toys
left.

12. Creative Puzzle: If you have 10 toys and you lose 3, how many toys are left? Draw
your answer.

13. Guess the toy: This toy is round and can bounce. What is it?
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14. Write a story: Imagine you bought 6 toys at a fair. Write a story about how you
play with your toys when you get home.

15. Challenge: Ram has 5 toys, and Shyam has 8 toys. If both of them play with only
3 toys each, how many toys will be left unused?
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